5] 7 4] 3 4 3 2 1
ITEM NOC. DESCRIPTION qry. CATALOG _NUMBER DESCRIFTION
1 FCW12SF_CARINET BASE 1 FCW125P 12 SIX—PACK HOLDER WALL MGUNT CABINET
2 PANEL, LEFT DOOR 1
3 PANEL, RIGHT DGOR i 140 65
2 HINGE_FIN, DOOR 2
5 PLUG, D—HOLE DOME, DOOR 1
8 PANEL, PATCH 1
7 PLUG, DOME, 1.5" DIAMETER 4 \— O
] CHROME DQOR KEY LOCK 1
5 CABLE TIE—OFF, FOUR SLOTS 4 o — |
10 FASTENER, 1/4 TURN, DOOR _(INSTALLED) 2 ® \/
11 NUT WITH LOCK WASHER, S5 #10—32 Pl
12 STANDOFF, THREADED INSERT, SS #10—32 2 /<DZ PLACES
13 PANEL, GABLE MANAGEMENT TRAY 1 /
14 |STAND—OFF, THRD INSERT, 10—32, SPLICE TRAY| | (10) o)
15 O—RING, PLASTK, WHITE z @
18 RIVOT, O—RING, PLASTIC, BLAGK 2
17 GRID_LABEL i
18 OANGER LABEL 1 /
19 10" WIRE TIE B @\ /
50 THREADED POST 1
21 NYLON WING NUT 1 18,00 B @/ o O]
22 INSTRUCTION SHEET i \\@
l—
/@ \/
FCW12SP SERIES
SGALE 1/4
—] SIK SEREEA T
SHOWN
FRONT VIEW SIDE VIEW
SHOWN WITH DOORS SHOWN WITH DOCRS
N CLOSFD POSMON N CLOSFO POSMAN
— ®
(60') TYP. BOTH SIDES
\r T
|
| — T |
@\\< [} [}
| |
[} [}
| |
[} [}
I (8.50) I
[} [}
NOTES: 1 540 1
| |
’J 3
1. CABINET ACCEPTS UP TO 12 MODULAR FSP ADAPTER PANELS. O | O | O
| |
2. FACTORY INSTALLED LOCK ON TECHNICIAN'S SIDE, WITH QFTIONAL LOCK | |
FCR USER'S SIDE. = =
. BOTTOM VIEW |NDTE: KEY-LOCK, NYLATCH FASTENER
3. CABINET ACCEPTS A MAXIMUM OF FOUR 10" SPLICE TRAYS. SHOWN WITH DOORS & D-HOLE PLUG NOT SHOWN
N CLSED PUSITON BOTTOM VIEW
4 CSEbEﬁE:JgRY PORTS CN BOTH TOF AND BOTTOM DESIGNED FOR STACKABLE 4 PLACES SHONN WITH DOORS N
| Y 305
5. CABINET IS 16 GA. COLD ROLLED STEEL WITH BLACK ELECTROSTATICALLY
APFLED POWDER CQAT.
DINENSKINING ANO TOLERANCE PER PROJECT REFERENCE- . .
7. ONE SET INSTALLED; AND AN ADDTIANAL SET IS INCLUDED IN THE N = Hubbell Premise Wiring
HARDWARE PACK. DNEXSONE WE N NCHES ONU. | VATERAL: HUBSELL INCORPORATED (Dekewar)
X = 01 %5} Y Licd HE Foad, TRmingia, Cansoiak TR
B. MEM NOS (1017,18,19,30,21 & 22) ARE PACKAGED IN 00 = S o) E
HARDWARE FACK ] T BRAAN BY: ' ASSEMBLY, FCW12SP
b3 BLUEPRINTE, &R SUPPERTING PAUL 5. MAGUIRE D1/21/D2 WALL MOUNT CABINET
9. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE. D TN THECKED BV ZE |DRAWING NG REV-
g NOT TO OSCLOSE TD ATHERS
A | 4296 [o1/21/02 INTIAL RELEASE PsM | oL THE £OO, INRRUTKN. 3 I C1l1111 A
REV. | EON DATE DESCRIPTION CHe BY | APPD BY e WITBAT FERUESEN JOHN LUTZEN 03/98/02 SO 12 [ser 1 o 3




TTEM_NO. DESCRIPTION Q.
1 FCW12SF CABINET BASE 1
2 PANEL, LEFT DOOR i
3 PANEL, RIGHT DOOR 1
2 HINGE FIN, DOOR 2
5 PLUG, D—HOLE DOME, DOOR i
6 FANEL, PATCH 1
7 PLUG, DOME, 1.5" DIAMETER 4 —](Q.835) |— 0.500
8 CHROME DOOR KEY LOCK 1
5 CABLE TIEOFF, FOUR SLOTS X . N N :
D 10 FASTENER, 1/4 TURN, DOOR (INSTALLED) 2 / — — b
11 NUT WITH LOCK WASHER, S§ #10-32 2 00.438 / Q——\.—r | :
12 STANDOFF, THREAGED INSERT, 55 #1032 2 (1.430) | _— ) 1200 1
13 PANEL, CABLE MANAGEMENT TRAY 1 | - !
14 |STAND—OFF, THRD INSERT, 10—32, SPLICE TRAY| 1 , ‘\ (D) { :
15 U—RING, PLASTIG, WHITE z L 1,
16 RNOT, O—RING, PLASTIC, BLACK % // — |-
17 GRID_LABEL 1 ! ' —! o750
18 OANGER LABEL 1 e.00 / DETAIL "B" Q
19 10" WIRE TIE B ~—2.50 ; TENETT
%0 THREADED POST 1 \ YALL MOUNT / (4} PLAGES —
21 NYLON WING NUT 1 \ (2) PLACES SEE SHEET NO.3 S ?gjzgdggsd HOLE
22 INSTRUCTION SHEET 1 \\ / FOR DETAILS / . /
| \ , .
‘Iﬁf y 971
1.00 TYP. {1/ lﬁ\' IE{ - | —1.75—]
| " L L 4 l_o 25 :
P\ )% t | E | - )
7.00 :l 1 571
c I P i c
:| 1355 TYP.
1 1.0 TYPR, ;
o o -7 :
:l — .
g O 0O O 0 0 0 o 0 o o o ©
E% i __
] 464 TYP. 4,17 TYF, 6.37
o o i
I ‘ S o o o o o o o o o o
i .69 TYF. O\ 112 TYR.
I ' \_ 1
I \ N 1.14 TYP, 20.25 THRU HOLE
8 -1.80~— PATCH PANEL TYP. :
' :l HDLDS TWELVE (12) FSP PANELS
1,43 TYH. I~ SCALE 1/2
0.50 TYP. | | —Z-d |
' Q.650 TYP.—| |— '
0.835 TYP. .
SIDE VIEW .
4.50 CABLE ENTRY CUTOUTS
(4 PLACES SHOW WITH DQORS GLOSED
— PATCH PANEL N
LAYQUT
A A
O TILE:
ASSEMBLY, FCW12SP
WALL MOUNT CABINET
| 2966 ZE |DRAWING NQ. REV. !
NOTE: KEY—LOCK, NYLATCH FASTENE D Clii1n A
& D—HOLE PLUG NOT SHOWN oA 12 [sier 2 o 3 :




B 7 [ =1 4 3 2 1
TEM NO. DESCRIPTION A
1 FCW12SF CABINET BASE 1
2 PANEL, LEFT DOOR i
3 FANEL, RIGHT DOOR ‘
7 HINGE FIN, DOOR ]
5 PLUG, D—HOLE DOME, DOOR 1
g PANEL, PATCH 1
7 PLUG, DOME, 1.5" DIAMETER 1
8 CHROME DOOR KEY LOCK 1 SEE DEATIL “A*
9 CABLE TIE_OFF, FOUR SLOTS 4 (15) ©1.44
D 10 FASTENER, 1/4 TURN, DOUR (INSTALLED) 2
11 NUT WITH LOCK WASHER, S5 #10-32 2
12 STANDOFF, THREADED INSERT, 55 #10-32 2
K PANEL, CABLE MANAGEMENT TRAY 1
14 |STAND—OFF, THRD INSERT, 10—32, SPLICE TRAY| 1 N
15 O—RING, PLASTIC, WHITE 1 [l I \\ L 1 /1
16 RNGT, D—RING, PLASTIC, BLACK 1
17 GRID LABEL 1 (— <> C> 2.13 |
18 OANGER LABEL 1 .
19 10" WIRE TIE B DETAIL "A”
— 20 THREADED POST 1 ) SCALE 1/1
21 NYLON WING NUT 1 (4) PLAES
22 INSTRUCTION SHEET 1
—
Q (@]
—
C
(D!
10.00
/
| —
O 0 6.25
(D!
O
1.00 TYP.
: L |
o | <) O]
050 TYP. \ 050 TYP. I | I
A
! f
l—1.75 TYP,.—
8.0
(.19 WIDE x .50 LONG SLOT)
10 PLACES
(BOTH SIDES)
T
0.75 TYP. 55 Tvp. | I
| i
A -»1ﬂ5nml~
TILE?

CABLE MANAGEMENT TRAY ASSEMBLY

ASSEMBLY, FCW12SP
WALL MOUNT CABINET

Clii1n

SIZE |DRAWING NG_
D
SCALE: 1/

1 |SHEEI' 3 oOF




